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QUESTION: 102 
You are in the process of configuring a Hitachi CB 2000  system for a  customer. The 
customer requires separate accounts for LAN and FC switch administrators. What is 
the proper sequence of actions to accomplish this? 

A. Create a LAN switch account, a FC switch account, a LAN switch role, and a FC 
switch role.  
B. Create a FC switch role, a FC switch account, a LAN switch account, and a LAN 
switch role.  
C. Create a LAN switch role, a LAN switch account, a FC switch account, and a FC 
switch role.  
D. Create a FC switch role, a LAN switch role, a LAN switch account, and a FC 
switch account. 

Answer: D 

QUESTION: 103 
Which two Hitachi CB 2000 platform access methods provide connections to the 
individual Hitachi Compute Blade GUIs for operating system installation? (Choose 
two.) 

A. Use telnet to connect to the Compute Blade IP address.  
B. Use the Remote Console Application Reclient. 
C. Use the Web Console to access the Compute Blade IP address.  
D. Launch the Remote Console Java application. 

Answer: B, D 

QUESTION: 104 
A large financial institution is deploying a Hitachi CB 2000 platform in their 
environment. The base system includes two 1 Gbps LAN switch modules and two 8 
Gbps FC switch modules in default configuration. The customer is unable to connect 
port 1 of the LAN switch module to their LAN environment. What is the problem? 

A. The customer needs to upgrade from an 8 Gbps to a 16 Gbps FC environment.  
B. Port 1 is configured as a management port. 
C. The customer must install the latest patches for the operating system.  
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D. Port 1 on LAN switch module does not auto-negotiate. 

Answer: B 

QUESTION: 105 

You are configuring a new LPAR on a Hitachi Compute Blade. You have configured 

the CPU, memory, I/O resources and are now ready to install an operating system. 

Which three consoles would be used to install the operating system? (Choose three.) 


A. server blade Web console 
B. virtual COM console 
C. HVM screen 
D. Guest OS console 
E. remote console 

Answer: B, D, E 

QUESTION: 106 

What are two functions of the Hitachi Compute Blade Web Console? (Choose two.) 


A. to monitor the power consumption history 
B. to monitor HVM usage 
C. to monitor blade environmentals 
D. to monitor the FC switch module 

Answer: A, C 

QUESTION: 107 

What is the default configuration of a 1 Gbit LAN switch?
 

A. port 1-4 external ports 
B. port 1 management, port 2-4 external ports  
C. port 1 internal port, port 2-4 external ports 
D. port 1-3 external ports, port 4 management 

Answer: B 

35



 
 

  
 

 
 

 
 

 
 

 

 
 

 
 

 
 

 
 

 
 

 
 

QUESTION: 108 
Which two Hitachi Compute  Blade management  software tools support N+M 
Cold Standby functionality across  multiple chassis  consisting  of  both Hitachi CB 
500 and CB 2000 platforms? (Choose two.) 

A. the Web-based management console 
B. the Windows-based remote console 
C. Blade Symphony Management Suite (BSMS) Plus 
D. Hitachi Compute Systems Manager (HCSM) 

Answer: C, D 

QUESTION: 109 
Which three logical steps are required to activate an LPAR on a Hitachi CB 500 
platform? (Choose three.) 

A. Configure the HVM environment settings on the blade.  
B. Add the LPAR definition on the blade. 
C. Configure the network time server. 
D. Use the N+M Cold Standby setting on the blade. 
E. Set up the Logical Processor Configuration on the blade. 

Answer: A, B, E 

QUESTION: 110 
You need to configure a multi-blade SMP server installed in slots 4 and 5. Which two 
consoles would you use? (Choose two.) 

A. blade 0 management Web console  
B. blade 4 management Web console  
C. CB 2000 management Web console  
D. CB 2000 SVP CLI console 

Answer: C, D 
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QUESTION: 111 

What are three features provided by Microsoft Hyper-V Fast cloud? (Choose three.) 


A. template based virtual machine provisioning 
B. virtual machine live migration 
C. management with vCenter 
D. integration with Hitachi High Availability Manager 
E. virtual machine high availability 

Answer: A, B, E 

QUESTION: 112 
You are configuring an I/O Expansion Unit (IOEU) on a Hitachi CB 2000 platform. 
The customer has purchased two Hitachi Compute Blades, four IOEU interface cards 
and one IOEU chassis. Which configuration mode for the IOEU must be used to 
balance the I/O throughput across all four IOEU cards? 

A. 1:1 
B. 1:2 
C. 1:4 
D. 1:8 

Answer: C 

QUESTION: 113 

What are two characteristics of the VNIC system number? (Choose two.) 


A. It is used to generate unique WWN addresses for all HBA ports. 
B. It is used to generate unique MAC addresses for all NIC ports for each LPAR.  
C. It must be a unique value among all HVM environments across all chassis. 
D. It must be between 0 and 128 inclusively. 

Answer: B, C 
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